Comment (#43 Page 132 L33)

TDL #115 D2.3.

Comment: In yseboodt_0117.pdf page 3 we adopt option 2 (generates 3 class event if
pse_avail_power=4). To add option 1 as option as well to allow 2 fingers and 3 fingers (Option 1 and 2)
and update the state machine accordingly to add to PSE flexibility.

Response:
Add TDL (Yair): Create proposal for option to allow 2 or 3 class fingers if pse_available_ power = 4.

Suggested Remedy
1. Add the following variable to 145.2.5.4

option_2ev
This variable indicates if PSE is using 2 class events when available power=4 or choose the option to
generate 3 class events when available power=4.
Values:
FALSE: The PSE is not restricted to 2 class events when available power is 4.
TRUE: The PSE is restricted to 2 class events when available power is 4.

2. Make the following changes to Figure 145-13 Page 132.
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